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3. Circle the name of the shape: rectangle trapezoid rhombus E
$2.54
4. X S
) 5: A circle is named by its . Underline the answer.
'ﬁb diameter center radius chord
6: 6 hours 13 minutes — 4 hours 7 minutes = hour(s) minute(s)
2,013
2 X 9
8, Circle the name of the angle: acute  right obtuse
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Circle what comes next in the pattern:

VAV .
VIS 2
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$4.06
x 42 2. Round 0.18 to the underlined place.

The multiplication property for 0 x 7 = 0 is the

Write the missing family fact.
2x8=16
8x2=16
l6+2=38

203

1 hour 12 minutes x 3 = hour(s) minute(s)

An angle has two rays with a common endpoint.  Circle: True or False

Circle the best estimate for the measurement of the angle: ~ 60° 90°  143°

3 3
What is the perimeter of the shape? l :2

A shape is symmetric if it can be divided so that both sides match.
Circle: True or False




Mmwvre &2

Vl\\ooo..lo.-o..oo.Ot...o.oo-..oo.ooooooco.o..t.oo.....

%
i

v

Aame

$0.95

N
X
e}

Is the shape symmetric?
Circle: Yes or No

W N

0.008 x 9 =

-
J
N

= Circle the multiplication property for 1 x 7 = 7:
‘Fi commutative property associative property property of one

)

7)434

20.11
+<6H2

N

rate = 25 miles/hour
If a train travels for 6 hours, how many miles will it travel? miles

9,341
X 2

%

Does the letter X have a line of symmetry?

©

o / 0, Circle the name of the triangle:
= acute right obtuse
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Circle the name of the figure:

line line segment  ray /

How much money is 3 quarters, 1 dime, and 1 nickel?

Does the letter D have a line of symmetry?

rate = 10 miles/hour

If Clay rode his bike for 1 %hours, how many miles did he travel?

56
x.23
120
110
What temperature will it be if it 100
increases 7 degrees? Q0+
80
10
©0

2 i0.036

For questions 9 and 10, write the word that best completes each sentence.

9.
70.

The answer in subtraction is called the
difference quotient dividend

The answer in division is called the
difference quotient dividend

miles

Y v/}
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2 $8.21
3 1m; 2258 FP
0.12
+ 10.03
8
What is the perimeter of the square?
1,520 +5 =
7 minutes x 9 = hour(s) minute(s)
8.1
x 0.2
Circle the name of the angle: ~ acute  right obtuse

e T

Acubehas _ faces.

The point where three edges meet on a solid figure is called a vertex.

Circle: True or False
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Round 17.12 to the underlined place.

20.09 x 10 =
.14
Write — as a percent.
100 P e
A square pyramid has vertices.

8)872

Is the shape symmetric?

4,110
X 8
—
Two names of the ray are and YW.
e —o——0)>
¥ Z W

Circle the name of the triangle:
equilateral isosceles scalene

What is an endless flat surface? Underline the answer.
ray plane line point

f

')
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: 46
Write —— as a percent.
100 P ——
15 feet 7 inches — 7 feet 2 inches = feet inches
21x01=

The two names of the line segment are CD and

° -0
C D

For questions 5-7, write the correct word to complete each sentence.

© %NS G

70.

point line ray plane line segment
A is an endless flat surface.
A is part of a line with one endpoint.

" An exact location is called a

45 minutes x 2 = hour(s) minutes
Two names of the angle are 4, XYZ and _
Z
X Y
204
x 15

63
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70.

You measure temperature with a thermometer.  Circle: True

A right angle measures

0.713
— 0.008

rate = 50 miles/hour

If a truck travels for 3% hours, how many miles will it travel?

6
-
Write the perimeter of the triangle. /\

5

9510.08

6,018
X 6

Circle the best estimate for the measurement of the angle: 19°

N,

Factors are numbers that are multiplied to get a product.
Circle: True or False

The distance around a polygon is called the

or False

miles

90°  12¢°

&=
<A

QL
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9)45.72

How much money is 2 quarters, 1 dime, and 4 pennies?

6)1,602

Is the shape symmetric? > <

17.14
X 2

20 minutes x 5 = hour(s) minute(s)

The two names of the angle are 4 and 4, :

L

N

The number of squares needed to cover a region is called its area.
Circle: True or False

9 $8.26
X 34 /00 ﬂ
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The lines are . Underline the correct answer.
parallel perpendicular

Use <, >, or = to complete questions 7 and 8.

7, 2 quarts 1 half-gallon
& 2 miles 5,280 feet
‘9, Write the measurement as shown by the arrow. inches

1 2
0 T

S B, sy LS L Lal et

/ 0, A fraction names part of a whole. Circle: True or False

: Minutec © 2002 Creative Teachine Prece

7.
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Write ﬁ as a percent. %
100

Write 0.5 as a fraction.

937
x 31 4.

3 hours 16 minutes + 1 hour 30 minutes = hour(

Write three tenths as a decimal.

Circle the name of the angle: acute

<\

Use the bar graph to complete questions 8-10.

g
9.
/0.

What is the students’ favorite kind of
book genre?

How many students prefer
fantasies? students

How many more students like
humor than like realistic fiction?
more students

right obtuse

sy

minute(s)

Students’ Favorite Book Genre

Nonfiction

Humor

Mystery

Fantasy

Science Fiction

Realistic Fiction

Historical Fiction

0

5 10 15 20 25 30 35
Students

67
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$5.67
7)12.6 2 - 540

Circle the best estimate for the measurement of the angle:
54 90° 151°

Write the next number in the pattern. 0.2, 0.4, 0.8, 0.16, 0.32,

n+-9=13;n=

30 minutes x 6 = hour(s) minute(s)
17.190

22—1%: & .+ 344

What is the perimeter of the shape?

4
2

2 2

Is OP a radius, the center, or a diameter?

68




